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import sys
sys.path.append("statlib™)
from power import PowerPropTest2

PowerPropTest2(Nc, Nt, Pc, Pt, sig_level=0.05)
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import sys
sys.path.append("statlib™)
from power import PowerPropTest3

PowerPropTest3(Pc, Pt, r=1, sig_level=0.05, power=0.8)
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PowerPropTest2 DR ) fliZ#H 1
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import sys
sys.path.append("statlib™)
from power import PowerPropTest2

PowerPropTest2 (200, 200, 0.6, 0.5)

power = 0.52008

0.520084901417641

PowerPropTest2(54, 269, 0.5, 0.7)

power = 0.80117

0.8011748762749378
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import sys
sys.path.append("statlib™")
from power import PowerPropTest3

PowerPropTest3 (0.5, 0.7)

Nc = 92.999, Nt = 92.999

(92.99884482754574, 92.99884482754574)

PowerPropTest3(0.5, 0.7, r=1/5)

Nc = 53.795, Nt = 268.977

(53.795485840844485, 268.9774292042224)



